
Formulae for Sum and Difference of Inverse Trigonometric Function. 
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Where kS  denotes the sum of the products of nxxx ,........,, 21  taken k  at a time. 
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(11) }11{sinsinsin 22111 xyyxyx   ; 

If 1,1  yx and 122  yx  or if 0xy  and 122  yx  

 

(12) },11{sinsinsin 22111 xyyxyx     If x0 , 1y  and 122  yx  

 

(13) },11{sinsinsin 22111 xyyxyx      If 0;1  yx  and 122  yx  



 

(14) },11{sinsinsin 22111 xyyxyx   If 1;1  yx and 122  yx if or 0xy

and 122  yx . 

 

(15) },11{sinsinsin 22111 xyyxyx     If 01,10  yx and 122  yx

. 

 

(16) },11{sinsinsin 22111 xyyxyx     If 10,01  yx and

122  yx . 

 

 

 

(17) }1.1{coscoscos 22111 yxxyyx   ,  If 1,1  yx and 0 yx . 

 

(18) }11{cos2coscos 22111 yxxyyx    , If 1,1  yx  and 0 yx  

 

(19) },11{coscoscos 22111 yxxyyx    If ,1,1  yx and yx  . 

 

(20) },11{coscoscos 22111 yxxyyx    If ,01  y 10  x and yx  . 

 

Important Tips 

 If ,
2

tantantan 111 
  zyx then 1 zxyzxy . 

 If ,tantantan 111   zyx then xyzzyx  . 

 If ,
2

sinsinsin 111 
  zyx then 12222  xyzzyx . 

 If ,sinsinsin 111   zyx then xyzzzyyxx 2111 222  . 

 If ,3coscoscos 111   zyx then 3 zxyzxy . 

 If ,coscoscos 111   zyx then 12222  xyzzyx . 

 If ,
2

3
sinsinsin 111 

  zyx then 3 zxyzxy . 



 If ,sinsin 11   yx then    yx 11 coscos . 

 If ,coscos 11   yx then    yx 11 sinsin . 

 If ,
2

tantan 11 
  yx then 1xy . 

 If ,
2

cotcot 11 
  yx then 1xy . 

 If ,coscos 11  
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